TEE REVIEW #5

	1.  

	Find an approximation for the integral.


 


Use a double Riemann sum with m = n = 2 and the sample point in the upper right corner to approximate the double integral, where. 



	2.
	

Find , if .



	3. 

	Calculate the iterated integral.  What type of region is this? 


 



	4.  

	Calculate the iterated integral. 

 
Round the answer to the nearest hundredth.  



	5.
	

Find the average value of  over the rectangle with vertices



	6. 

	Calculate the iterated integral.

  



	7. 

	Evaluate the double integral. What type of region is this? 


 

 D is bounded by y = 0, y = x2, and x = 2. 

	8. 

	Evaluate the integral by changing to polar coordinates. 


 


D is the region bounded by the semicircle  and the y-axis. 

	9.







	


Calculate the iterated integral.


  



	10.
	
Find the volume of the solid in the first octant bounded by the cylinder  and the plane x = 1.

	11.
	

Find the volume bounded by the cylinders  and .



	12. 

	Evaluate the integral by reversing the order of integration. 


 



	13.
	

Compute ,  where D is the disk  by first identifying the integral as the volume of a solid.  



Answers

	1.
	-832

	2.
	


	3.
	76.5

	4.
	165.22

	5.
	8

	6.
	


	7.
	


	8.
	


	9.
	



10.   	18
11. 	666.67

12.    	

13.	
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